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@ x2-y?2 -2 +2y=(x+y)(x-y-2)

® (2x+1)°-(x-2)=Bx-1)(x+1)



D (a-2b)°
® (a+b)(a—4b)

® (a+2b)°

@ (a+2b)(a-2b)
@ (a+2)(b-2)



& A 1522 4 11x - 12 & Q15-#3fohH?

@ (5x-3)(3x+4) @ (5x-3)(3x—4)
® 3(5x—4)(x+1) @ (5x-12)(3x+1)

® (5x+12)(3x-1)



& % 8ay - 4y 9] A47} obd AL

D xy(2x-1) @ 4x ® 4y
@ x(2x-1) ® y(2x+1)



@ 49 ® -1 @ 225 ® 50

@D 36



6. a>0<dd, \/(-4a)? = 3] 5HH?

O -16a? @ -4a ® 2a
@ 4a ® 16a?



o|J

0|
olig
Nfo

ojn

@ V9 &= Fegeelth

@ 3.14 = FE$oltt,

A



8.

VI5Ex V20 =aV3 & W, a O] 3t2?

@ 8 @ 10 ® 12

@ 15

® 18






el A] V3 = 17329 W, o]F o] &ste] V2T o g vk

10. A
:[L
® 34.64

roL oH

@ 17.32

rlo
(N

A
D 1.732 @ 3.464 ® 5.196



11.

1 1 1

142 213 1A

D 1+ V2 @ V2-1
@0 ®1

= Aitshi?

©)

N | =



12.

992 -1 =100 x 98 Y= Agdl=d| 71 gor2

® a4+ 2ab + b* = (a + b)?
@ a*-2ab+b* = (a-b)?
® a?-b*=(a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)
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